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Munsell System Y,,=100,
C=2,V=1,2,5,8&9,
chromaticity (x,
ety (x.))

CIE 1931 X

X,=96,79,Y,,~100,00Z,~111,46 B,

%y=0,3140y,,=0,3243
Ao=(ag-[30,n*30 atap,y]) Y
Bo=(bo=[bo,n*bo,a*bo,v]) Y
g = agg [X/y]
by = bao [2/Y]
ay=1, byp=-0,4

n = Mex -
ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1)
ay=0,000,b,,=0,000
29,4=0,000,05,4=0,000
Munsell System Y,,=100,

10

r10

Ao

520 Munsell System Y,,=100,

515 o 525

C=2,Vv=1,2,5,8&
h ticit, 9
55rooma icity (X,y)

9,

X,=96.79,Y,,=100,00Z,~111,46 B*,
%w=0,3140y,,=0,3243 E
*o=(80" 180,120,420, Y] Vae VY19 U3
B* 5=(0o=[bo,n*0o,a*00,v]) Y16(Y/Y19)
a9 = ag [x/y] 1
by = byo [2M
ay=1, byp=-04
20 20 A* o

r10

n = Mex -10
80,v=a(Y/Y1g-1)
Bo,v=by(Y/Y1g-1)
2,,70,000,0,,=0,000
ag 4=0,000,65,4=0,000

T C=2,V=1,2,5,8&9, T-10
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ag, Bo)
CE660-1A 6 CE660-2A 6
X,=96,79,Y,=100,00Z,~111,46 B, X,=96.79,Y,=100,00Z,~111.46 B,
%w=0,3140y,,=0,3243 1+ Xy=0,3140y,,=0,3243 EST

Ar=(ag~[ag ntag atay v) Y
By=(b1=[by,ntby atby v]) Y
ay = ago[(x-0,179H]

Ax=(ay-[ag ntap atao vl) Y
Bo=(by=[b b atbp v]) Y
8y = a0 [(x-0,179y]

CIE 1931 X Munsell System Y,,=100,
i C=2,Vv=1,2,5,8&9, T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*o, B*o)
CEG61-1A_6 CE661-2A_6
Xw=96,79,Y,~100,002,~111,46 B* Xw=96.79,Y,,=100,002,~111,46 B*,,
*y=0,3140y,,=0,3243 10 X=0,3140y,=0,3243 2.0
A* 1=(ag-[ag rtay atag y]) Yag(Y/Y19) /3 A* = (8p[3 1t a+ag v]) Vil Y/ Y19) /3
* 1= (b1 [by by b1 v]) Y1s(Y/Y19) 13 B = (b [z, *bp atb2.v]) Y16 Y/ Y19 13
ay = apo [(x-0,17D/y] + 2y =ay [(x-0,179H] 4L
by = by [2/4] b=z [(Mp1x+bpy)/y]
=1, byp=-04 A* 80=1, by=-04 A*
mr;=1,000, 1 Mp;=-0,169,0p,=0,389 @ 2
n = Mex -10 10 n = Mex -10 10
ay y=ag(Y/Y1g-1) ex 3 y=ag,(Y/Y1g-1) ex
by v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1)
23,0,000,0,,=0,000 T ,70,000,0,,=0,000 T
a; 5=0,000,b; 4=0,000 a 4=0,000,b, 4=0,000
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1,2,5,88&9, T-10 C=2,Vv=1,2,5,8&9, T-10

chroma (A*;, B*4)

chroma (A*,, B*»)

CE661-3A_6

CE661-4A_6

X=96,79,Y,,=100,00Z,~111,46 B*
Xw=0,3140y,,=0,3243

1/3 L
A*3=(ag=[ag n+ag atag v) Y1g(Y/Y1g)

*3=(bg (D3 ritbs tbs,v]) Y1s(Y/Y19) 13
ag =y [(x-0,1791y]

b3=byo [(Mp1x+0p1)/y]

X,,=96,79,Y,=100,00Z,=111,46 B*

xw=0,3140y,,=0,3243 10
* 4=(@q~[u,ritag At 2 v]) Yag(YIY19) /3

B 4=(b4~[Ds,*ba a+bav]) Y1e(Y/ V1913

ay =ay [(x-0,171)1y]

b4=byq [(Mp1x+bpy)/y]

by =byo[2/4] ;=50 [(MpyX+hp)/y]
a=1,byp=-04 80=1, byp=-04 K\\
mr1=1,000, " momocoterog (AN, A
n = Mex 10 n = Mex —1 \_} i; ! 10
ay y=apy(Y/Y1g-1) ex ay y=a5y(Y/Y1g-1) X
by v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1)
ay=0,000,b,,=0,000 ay=0,000,b,,=0,000 T
a7 4=0,000,b; 4=0,000 a,4=0,000,b, 4=0,000
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,Vv=1,2,5,8&9, T-10 C=2,V=1,2,5,8&9, T-10
chromatic value (A, B;) chromatic value (A,, B)
CE660-3A_6 CE660-4A_6
Xw=96,79,Y,,=100,00Z,~111,46 B, Xw=96,79,Y,,=100,00Z,~111,46 B,
X=0,3140y,=0,3243 10 %=0,3140y,,=0,3243 2.0
Az=(ag-[agntaz ataz y]) Y Ag=(as[ag ity ataayl) Y
B3=(bg=[b3,rtbs atbs v]) Y B4=(b4=[04,rtbs, atba v]) Y
a3 = a0 [(x-0,179/y] 4L ay = ag [(x-0,172/y] 4L
b=y [(Mpx+bp1)/y] b=y [(Mpyx+hp)/y]
a0 =1, byp=-0,4 a0=1, byp=-0,4 \;
mp3=—0,974,bp,=0,658 As mp3=-0,169,0p,=0,389 ) :\j . AL“‘
n = Mex -10 10 n = Mex -10 - ' 10
ag y=apy(Y/Y1g-1) ex ay y=apy(Y/Y1g-1) L/M:X
b3 v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1)
ay=0,000,b,,=0,000 T ay=0,000,b,,=0,000 T
ag 4=0,000,b5 4=0,000 a4,4=0,000,b; 4=0,000
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,Vv=1,2,5,8&9, T-10 C=2,V=1,2,5,88&9, T-10
chromatic value (A3, Ba) chromatic value (A4, By)
CE660-5A_6 CE660-6A 6
Xw=96,79,Y,,=100,00Z,~111,46 B, Xw=96,79,Y,,=100,00Z,111,46 B,
X=0,3140y,,=0,3243 10 %y=0,3140y,,=0,3243 10

As=(as=[as ntas atasy]) Y
Bg=(bs—[bs,r+bs a*bs v]) Y
a5=a,,{(0,861x-0,719/-0,026)y]
bs=b,,[(0,19%+0,386/~0,240)¥]
25,=1,00,b,,=1,00
Ag.G.y,R=475,503,574,494c,
n = Mex -10

ag v=ay(Y/Y1g-1)

bs v=boy(Y/Y1g-1)
2,y=0,000,b,y=0,000

a5 4=0,000,bs 4=0,000
Munsell System Y,,=100,
C=2,Vv=1,2,5,8&9,
chromatic value (A, Bs)

As
10

-10

Ae=(ag=[a6 ntas a*ag,v]) Y
Bg=(bs~[bg,n*b6,a*bs ) Y
ag=ap,{Xly]

b=y, [(Mp1x+bp1)/y]
a9=1,00,b,,=-0,40
Mp1=-0,974,b;=0.658
n = Mex _10
ag,y=ay(Y/Y1g-1)

bg, y=bay(Y/Y1g-1)
ay=0,000,b,,=0,000
2 4=0,000,05,4=0,000
Munsell System Y,,=100,
C=2,V=1,2,5,8&9,
chromatic value (Ag, Bg)

r—-10

10

a0=1,byp=-04 A* 80=1, byp=-04 A*
Mp;=-0,974,b;=0,658 \ . = mp1=-0,169,bp;=0,389 " ; b4
n = Mex 10 ' ' 10 n = Mex 10 ' ' 10
ag y=agy(Y/Y1g-1) LiCX ay y=ag,(Y/Y1g-1) hex
b3 v=boy(Y/Y1g-1) by v=byy(Y/Y1g-1)
a5,=0,000,b,,=0,000 T ay=0,000,b,,=0,000 T
a5 4=0,000,b3 4=0,000 a4,4=0,000,b, 4=0,000
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1,2,5,88&9, T-10 C=2,Vv=1,2,5,8&9, T-10
chroma (A*3, B*3) chroma (A*4, B*4)

CE661-5A_6 CE661-6A_6
X=96,79,Y,=100,007,~111,46 B* , X,=96,79,Y,,=100,00Z,~111,46 B*
Xy=0,3140y,,=0,3243 Lo Xy=0,3140y,,=0,3243 o

*&=(as[as n+as a+as v]) Yig(Y/ Y19 113
B*5=(bs~[Ds,i*bs *bs,v]) Y1g(Y/ Y1913
a5=a,,{(0,861x-0,719-0,026)¥]
bs=h,,{(0,19%+0,386/~0,240))]

a,=1,00,b,=1,00 A*
M,6.v,R=475,503,574,494¢,E nm 5
n = Mex -10 10
a5 y=ap(Y/Y1g-1) ex

b v=boy(Y/Y14-1)
a,,=0,000,b,=0,000

a5 4=0,000,b5 ,=0,000
Munsell System Y,,=100,

* =(@~[26,7+3 a*86,v]) Yae /Y19 3
B 6=(b6~[Ds,+b5, A*b6,v]) Y1e(Y/ Y19 /3
g = a(x/y] AL
b=, [(Mp1x+bp1)/y]
85,=1,00,05,=-0,40
Mp1=-0,974,b,=0,658
n = Mex -10
g y=a(Y/Y1g-1)
bg,v=by(Y/Y1g-1)
a,=0,000,b,,=0,000
ag,4=0,000,b5 A=0,000
Munsell System Y,,=100,

A*g
10

CE660-7A_6

CE660-7N

CE660-8A_6

7o

9}

C=2,V=1,2,5,8&9, T-10 C=2,Vv=1,2,5,8&9, T-10
chroma (A*g, B*g) chroma (A*g, B*¢)
CE661-7A_6 CE661-7N CE661-8A_6

TUB-test chart CE6G, y), chromatic valuesA;, B;), chroma A*;, B*;), adaptation: 5A=0, 5Y=0
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Munsell Chroma2, Value=1,2,5,8 &9; experimental illuminant M (X, Y)vex=(0,3140, 0,3244)
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